Rl b) GZHT

LH’I‘ET d) faefrs ans. C
Solution: RiEENCE R e RC IS LT G e R R GIE

A e | BT, TACHT THE A T a9e

Fr+{taa g 9 T | WEAEE 6 a6

G A @R |

9], 209 FE =S LT <THE 7S T &7
1) SIGUMTaEE A= b) 7 Gt
¢) WEE 3w wiE d) fofew @9t ans. B
OTIER o3¢ e e wd fadterm farrs
qA FEEM G AFAfdESE e qEHEeE SR
carEraT (39) |

92. IMF - 991 FW9 W CHNI?
a) awireGa e b) frEEa
¢) CELTE] d) Card ans. A
IMF @@ &% %1 [nternational
Monetary Fund. @ft 3-23 @#1% 3588 Y%aEa
@b weve 8efd e efsfafurys swwsmre
81 pfea Aaire wREfes gy wefes a1 IMF

#few =1 | @ i sFpiFeere e =1 24

) T Y98¢ A |
93, GITEATR s LAY (7
a) B-4r6 RRUEL

¢) WIS CEATAT*TS d) ST ans. B

sifewrred oum  mEpfee Gecste
(ShBu-dpe ) | e, afewwa fadly wzEifee
Wi IS | ARATECR  qieerEa ey
gifeseres wzpiva forem fumam qwrgs T-
o | fef ferem wifesrran g8 wemifoa |
GG eres ada= 740 qEHhg ALreEa apsifaes
“HICR e STEreA” |

04, AT CER AW AT G oty
a) AR b) J&TE]
¢) I d) Fw sFE ans. A
aéara wefarafas (oo Teomra i e
ol e gmaE, afemn, offv @eE, 29 gae

HTE] |

95, ‘T8 (o e foea @mite Y ArrTE?
1) ATETeiEE b) CHEITHET
¢) oy UREEIER ans. D

FEH R e YSAEad AT
| (1231 CIFTE 41 CIvE FifeEy «ue G i
wdftafes Ay 4 «fare @4 s age w9
TAEd TFY anferars Gra-arEy @ e
5T |
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96. (FHI0 TFRARE BAWE 02

a) 91 &4z b) qrfaere
¢) Y OIS d)a@ 9me  ans. C

BYIY oA ool we agenE, odred

WG, Y (U0 SOl , WL, WHE 2611 |

97, wafE o9 fawee |t 30

a) Horticulture b) Aroboriculture
¢) Floriculture d) Vegiculture ans. A

Solution: JEIEEE I L LI B B LS

98.

99.

fawirce I-Inrlicu_ltur_r: a0 | Wﬂl

~ Arboriculiure A A T T G e a i
Aquaculiure “f+rt® wersret Siuw v
Senculture CATeTART]

Pisciculure OB, WIS
Apiculure it v
Vimweuliure/ TR B
Vitculipee | .
Aviculiure “ftfaer
Poultry (arming Al e
Husbandry ey

ARATHT  FAAHLH I e e e
(g

a) TaEA-5w b) W

¢) wfarel-#ff5x d) 9d4i S  ans. C
A Platelet - 97 F1&T

i) D;-ﬂﬁﬁﬁ

b) A STy

¢) TG GG A4S L] A

d)y 7% PY ag Wame o ans. C

I 2ot a5 o 9140s @ AFwa TF

o€ WETHEoE ME Ao WA (e A
(ACEF AT 51 & ofi@ | 9 offerer 5IECS
ATOTEea W@ A (SF 95 G0 91408 #A0A 7 |

TE ATHACCE A (T (AT |
100.3E0R (YT FFHTOMT TUT HAMH-LMFACE B
9] T
a) ZUEAAD b) E0T9FY
¢) Z-CEH d) EoEPYE ans. A

IR Gffmmemart  eyfers q@zm @@

FEOME (UTF FHEOMLA  BU] SWW-2RICAE
syfmre 4o 2y TOMECA0 | UMD OF RS

farerger #9= SF International network <4
sefiwe o ferma «sar 9 |




81. Y»d A IS [T S@QWisg o0 @ 42
Aratee Faerdta’ Tenfurs ot w0 =
i) Wﬁﬁﬂmﬁﬁ
b) GTEMA s 8 T fafq
¢) Sramaw fafe @ crEE @
d) g fafq @ s & ans. C
AT FALBE (S AFTH A T | ST ZEA
- YfErars s fafa gae cremn @ | S
fafe 3371e GIBLA Y& FTA A TR @ 3 e

TR Toy LA
82, SURAH FCHT S
a) FlErad b) STATHD
u.] BTEUICHA d) TS ans. B
| caestren A SO Ty F-cd S
ARAA k]
oy A0 | S L Tom
AT HLA® ¥ITET UL I
T e (TS L BGCICR 1L
ST foreg WMaEv, aAs HTEATE
favnfitemm | T e kol Gl
arafwm forg fepme gl
Farume A 3l 0 A AT
a# 6 wreY waA &N A HTAT
83, ARFATATH LT WTUSITA 2 a7
i) amae FHIH h) Y99 HICH
¢) Y98 AH d) sabd #AE  ans., C

ARFCATH 2 SMTSTEA 2 So-3b (N,
V98 A | IRATH O Y SWasAa o & 99
SR8, SR, YRR, 00, O, o |

N4, dHERH 99 &4q] T T AIHAY
a) ko AT b) a5 #HItA
C) 3ol HTH d) o AT ans. B

OO svoc 0o SY SREE 6 FTETa Caraeia
M4TH  FA@d @ qued | qaqens  fom
GO S W @fers sy forrE
Yeid AGT e G fWie waaa aafas e
COTECI (o1 | @ COTHYT e TN MR HIEFE 0

G |

85. fsa am abifore DT BT o @
L3k
a) 35 W b) 25 W
c) b W[ d) 8 W ans. C
aef™ wfer fea swm @ amfm
ATTSAET0] 991 24 TSz B3 W |
Bupere gt | -y oRgU Sn iy 3

AfeaT AIEd SBS A wepTes sTery
sranera fey fordnssh wfufB
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ST A

i

B, Afenifa ‘g W'y affe wifaaten awes

oy, WA YSAAn AMEEIG | o, (PR EATAE WhE D A0
qHOMN  WefEr e oo | T o, ofere o weE
| i i fefars sne | mwemvemn g W wae e

A cEmD  Grime weifie | wwmrenaoare o weren s
| 5T

ad, HTATLAT™ LT/ LT
| fafemuremnn §'warse ga, o

oB, M At &4 Wl s

e wrE Hrwrw aga¥ vanT muﬁmﬁnmm
N HH =T areces el FER s
HABTALS (WA ATg oIy |

| off, NEATHIGOA] JALELAT N@E | ob, STSHIGOTCE Sl

rarefers s wives woa, wm | Ferrergma sem amer smfee arfed
frdifere s =mm wwTE AT T AT WS AT |

86, ez o orefefes sraem-

a) GEH h) ffEfes
¢) farer d) AR ans. D
feEaam zre e fofas famn Teemaed)

—

AGTAfSS Wl @ FW Feside | weifo e faem
FITHA e TAAE € G FEEL bW

ARTBT™ a6 AE ATGLATEE =1+l AIE |
87. SIHTAA AT 7T $r2
a) b h) IR0
¢) CFITTel d) T G lans. A
WWWWI
L Wik AE| _ e L CED
WW Irl'f_rl T
vl L, e CFITAETE] A
A Pt ATBITHET
AT His L 0TS HTTHTA
) CHATCAV HIAVA
ST e gom oG
T ﬂﬁﬁm L
=T ' W T AT
88. ‘ﬁ!ﬂﬁ‘ﬂﬂﬂiﬂiﬂ @ SHPE Ty
0)  YHAE , FAE, CfHT
b) mmﬁmm
¢) oo, w3, csherae
d) FTEE, §AZ, AEAEA ans. A
200 fiFw faware 549 w03y WPs
‘!'IHT!'I‘EH"I YSAE, SIS, CTATH
HRUE ' mﬂmﬁauaa
cul WG bo 6, ATATE] & CNHCE! Yol SL# STuTeE
T4 O YAl wTUTee aca 8afl
W S TS BRI i1l
89. SDG wfesRras Fewy Ay A &8s w
u) ¢e Y b) 90 &9
¢) 92 B9 d) 99 &9 ans. B

%nm WA e GO GIFSHRTTa A
o &N WfYCAA SDG J2S & | GaE
T L 0 o B £ | o 1
Transforming our world. 2090 AT W4 92
S I b B (T B R
giheag®, 193 © 1 The Sustainable
Development Goals (SDGs) @3 4% pfsrs

qAFA A Ty SDGs @A tafgs sy 17 B
e FETAE 169 T



71. FCEA AT SoBILA SIS (FeID?

a) T b) THCET
¢) ST d) @t ans. A
X
0
A . C
E D

qtad «ffadreE g2 SNy S FAE (R0 S
TH5MY W qT WIATE W4T AT | TSI
SRS (@ Ferl 29 | rm O FmiaiE 9ue
ABC ©51% 939z ADC 4517 | THBILAd Tod
e 4 B F £ ABC 203 $=0a09 |

72, a0 GHSCHER (A9 oE (AOG | (Haee
% IToE =H, o1 A +$ fvEe
d4) =0 b) 8o
C) Yo d) ro

Solution RERE T RS SR

- Fwod Ay y.ex oE

TS, v x M.y =24

3.EO =Y
<yl

r"ﬁ—hﬂﬁ

=5 X =7J¥8 =1J(¥)*
ToX=3%
e 9209 o 32 oM
GA09 (AW = 3.¢ x 33 =3 fbrE
Hoqq , GADa Al = (TA9T + oY) 9T
= 3(5b + 33) 9FF = 3 x 9o = wo O

Shortcut: T =T

=\ B x 3¢ = b

B2

ans. C

U

U

AFFA = 3 (T7F + &) = (Db + 33) = Yo
73. F:¥ =8B I T = v THE F:19 =

57

a) s 8 b) 8

c)9820 dest ans. C
74. — 2x? + 4x — 5 FMoq FEH T F67

a)—1 b)-2

c)—3 d) -4 ans. C

75. PQ @¥ons R A aWend WEEes 4
T A PQ : PR = PR : QR = %99 PR >

QR FEATS0 57
a)l: 1.618 b) 1 :0.618
¢) 1.618 - | d)0.618:1 ans.B
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76. TG DA (AT 07
a) 990 &, 1, b) ©.o) f&. .

c)eo.exfs fa, dyeowoe . 7. ans. C

Solution: BEErRACCIE LU RaIcict ek URCH
fermifaom | bigea aferey wivar smezEcae “eae

i T Brew'a S oS (o s S9ge
O 91 %45 b= | Shaea =95 ware
T Mie Z0are (MreE 9w q%9g G |
4% GIAF1G B 941 28 Qb WAEE 0329 AN |

77, ARFCACE JTET I-/% (FT (G112
a) C=l=0 I::]'HTE‘EHT
¢) BME d) EEET ans. A
(e AR EEAY WAES  ARAEeE
TG T (OF | G% A FE WEESH =4
AT AT “AfA5S | TrgHy, AT SFEE
AfTETST Jlef TCEET |

78. G NS v oY e i s
G (SN $iHe F3?
a) W ZCFTe b) e B3
¢) W shfEas d) TG ans. A
79. AFVCE TR ARTEEE ST AETSEE
™ (D ?

a) SIS b) BI¥
¢) A= d) §=9E ans. C

A FYEAl SotEeE wWee  sTe
T FYeE gnw WiEile mm #FeeE
JETries Aye g | AEE TgT Sefe =S
FAT=W (TEOTH) 9T FPn qEATEE FA0E |
S A (A6 Ho % FIAE FA0 A4 | AR
Arcias @@ af=wEa Tufae 79de o +
guee (g - e fefegam 200
giEa “EEries b 9% o4 24 | A )
ITEd Yoo (WISHG FIS[E §o ZTH0 9 34

E | 2028 ANE OF HYY ZT8+«@0 9 Had 999
TR 3028 A oo TTHD b Zeve &9 | O]

fa9ie (@09 BT vo 954 favje Bedme Sa1 914 |

80, TEIBFG (FF 791 SIg WAES?
a) BLATST=] b) T

¢) AT d) FErEE ans. D

Solution: IREFIEEEEEECIM I Ea T el A
Tara «feT Sa TEEENS, T 9N G ¢ &%
LA ARG AEEE 59 | 9F 92 g A
fos ‘sgeee’ | ARSI H9EE STEferS
(4TWTE T4 FEES Ibmew feE e a«me e
(5T0E |



Solution TGRS ﬁ'-.". + | H - + 6y
=+ r1 + 50V + 507 + t'-ﬂ - ﬁ‘.
=7 (X + V) + S5av (X + V) + 6y (X + V)
= (x + ¥) (X + Sxv + 6y
= (X + v) (7 + 3xy + 20y + 6y°)
={x+y){x+3y)(x+ 2y)

59. x =[5+ T ﬁnﬁmﬂﬁ?

a) 36 h) 27

c) I8 d) 9 ans. C
Solution: RERVCEENE

[ S I GVARAVED.

R (VB VI D)

\5- i

r:ﬁmm.r‘..lllz(,u%)uzmxl

- (V3 + VB + VB -V -

=(25)'-2=20-2=18.
60. 18(x + y)%, 2d(x + y)* ¢ 32(x* + y?) @
3.6, (FT0?
a) 2(x + v) bjx=v¥
C)x+y d) 2(x—y)
ST A, 18(x + y)
=2 x3x3x+v)(x+v)(x+Y)
30 A=, 24(x + v)*
=2x2x2x3(x+yv)(x+ V)
=(x+ 3)(x—3)
o7 71, 32(x* + %)
=2x2x2x2x2x+v)x-w
GTCA | AM=STHAE A TS 2(x + v)
442 FATATES HAHMET 918 2(x + y)
farefa 13,8, = 2(x + y)

ans. A

y
61. (- 27) 99 < ¥G?
a) — 81 h) 81l
¢) + 8l d) + 27 ans. B

i 1 4*1
IR (— 27) 7 = (— ‘1]’-:,1, 3 =_3'=8l

62. (x?~ 9" "x @1 )" "x(xrn)" = 7wy

a) L byp +4¢

clg+r d) | ans. D
63. logiax = - 2 TH x I WH F&7

a) 0.01 bh) 0.00]

¢) 0.05 d) 0.005 ans. A
OO, o SITE, log jpx = — 2
= x= 10"

I I
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64. (logix)* = logior® TA x 9F TH F97

a) 1,0 by 1, 10
c) 1, 100 d) 10, 100 ans. C
65. qFL SWSrEEy A 8o No® | @ &8 ¢
fabm zmm, o9 ow fIo 2ra?
a) e b) 20
C) 2 d) wo ans. A
7 WE, 9SG SwerwEe «f A 8o
| &9 2y ¢ 0T |
TS (TG + &8) = =
— (9 + ¢) = Bo
—5 3 WYl + do = Bo
— 3 (WY = Bo - Yo
— 3 9T = Wo
S AT = e
66. a3 rarl fagrew THTET 42 wo® uwe
vo°; frswfba are fEade wgere oy
a)d2yfoa by s o \fa
c)dEiw d)y2ws3 ans. A

67. CHICA! J0EA (Y (A G0 BICH (FHY (1 9o°
T & JEBICR JTY (TR 97 (FILH T TS?
a) 5¢° b) B¢°
¢) ¥o* d)ae”® ans. D
68. 3 GfEfR, 3 GEfioR, o GIHRTR g 8

cefatom twdfaf=® st crre i =9 fags
SR AN UMA?

] h) =

C) 9 d) 8 ans. A
69. ¢ CIFofibm qrIdRtE® e @H O 8

cIfofibm ! w a7 g aw efofitmay

a) 8 h) ¢

c) ¥ d) 9 ans. C

OO st o, (wfoge)’ = (gf)* + (79)°
= ¢ =(gW) + 8
= ()= -du=>»

= gfH= o G,
O ENGERTEO =9 +9=%FM,
?ﬂ.aafﬂ IMFEa IE7 A9 b :

WWWWWWE
3 oo

i) a2l b) 390
C) 993 d) 380 ans. A

‘.-'n.l’urfm:.'
. WA o TS CELaT (Hael

3
= (\iay) = d3v 0
(FL6E AG)* = b° + b° = D3y (I Tom
FCHCad CFae | )




33.

a1 g offm a3l e T Yo TR W
ye T AT #I0F | S G IGO0 TS WA
FACE “[ACA?
i) 8
C) Y

bh) ¢

d)1q ans. C

Soltution  PGEIE AR

Wﬂﬁﬁﬁﬁﬂ}uﬁtﬂl
a‘rﬁnﬁmww ~ SR |
=Iﬁﬂuﬂmﬁ-‘mﬁmanfﬂrﬂn

‘ urﬁaamnﬁmm%mm

54.

wWEad F1% @ dfFs g3 y Wee a0 e
b 3

Wﬁﬂﬂfﬁﬂﬂmﬁﬂiﬂﬁmhﬁﬁll
1% @ e aata FCEa > 91 5T g wa

o X D
= =y 9

a7 b Wrdw 80% @7 WY 8¢ futm@
crst Fare s wifda tady emem wmr ) =fa
AT TSy

a) e oM
¢) q¢ fabr

h) 9o fabmE
d) vro fbT

ans. C

Solution: KESESIE

33,

ﬁ".’m.,uﬂﬂﬁ+ﬂﬂ'—l

2
5

= q¢ fabm

mﬁaﬂmaaiﬁwwmsmqﬁ

yoo DI T0A7
i) 300 h) oo
c) woo d) 8oo ans. B

Solution: (RS IR QLN BRI L

g =8 984 |

3
Wmm:aq;{%:n.a%
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56.

S i+, 1= prn
£ X3 X8

=

}DD:F;ﬂZﬂ

bﬂa=£‘

P = 200 B

¢ bramn vf6 @ o 9w ¢ D oft @ i
FAE *[SHA TS DI ATS TLA?

i) ﬂu% T bh) ﬂhi’ .

c) ﬂb\% Yo d) umai y ans. D

bfﬂwm = ¢ BT

57.

—

:.fﬁw:trm——ﬁm

b
¢ ¢ o-5 ¢
mﬂ"(ﬁ'b')_ 38 ‘aaw
.I"'E_ !
38
WEAF (EFA] 7S =W = 7 X %00 %
\ /
@ Y )
=(ﬁxaxaun)%=ﬂﬂ5%“ﬂﬁ

a6 I Y @ ANfE WIS @ 8 > 1 qued wfferae
% <9 weerw v e @ @ wre afe
st % Py

a) 2 h) @

¢) 8 d) & ans. A
Solution: BEMECCRERIER SR EIT

a4 “fifera «iferamer T

HECS , ¢y —x =V

By=V

X=

e «1fera «ifame 3 Fom

54.

Shoricut: '°1Tﬁﬁ offeranel = = :-c: =<

'+ 6ty + llxy? + 6y 97 e fersa
@7

a) (x4 v) x4+ 2y) (v + 3y)

b) (v +y){x=2yv)(x-3v)

¢) (x=v){x—=2v)(x+ 3y)

d) (x=v)(x+2v)(x—3y) ans. A



34.

39.

0.

41.

42,

Look before you leap < <=6 ==m

43.

45.

What is lotted cannot be blotted ( Active)

a) We must be blotted what we cannot lot
b) We cannot blot what we must lot.

¢)  We must blot what we cannot lot.
d) Must be blot we lot.

Lingua franca means-
a) common language b) maiden speech
¢) second language

ans. B

STE]; WHTH STE] | T2 FEE 589 I g).

The work is to be ____ immediately.

a) do b) done

¢) doing d) did ans. B
The word "Garrulous’ means-

a) wordless b) talking too much

c¢) speechless d) ialkingless ans. B
% 9= W ST TE EE S |
a) Think before vou leap.

b) Look before you do.

c¢) Think before vou do anything
d) Look before you leap ans. D
TFT | T2 LENES {io FAE E S SaE 20
Strike the wron while 11 1s hot %<1 Make hay
while the sun shines.

What parts of speech of ‘Fatherly'?

a) adjecuve b) verb

¢) adverb d) noun ans. A
Your clock has run___.

a) short b) good

c¢) down d) up ans. C
The noun form of approve is-

a) approof b) approveness

c) approvalty d) approval ans.D

Approve (S90d™= F497) 99 Noun form

46.

47.

T Approval (SRS |

FEAD (L0 WIe-

a) Cutthe line

b) Cross the line

c¢) Give up the line

d) Pen through the line
Metro rail is one of the greatest
achievements of Bangladesh. Find out the
correct sentence.

ans. D

a) Metro rail 1s a very great achievement of
Bangladesh.
b) Very lew achievement of Bangladesh are

as great as metro rail.

Recent Pubbcanon
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45.

49.

30.

¢) Metro rail 1s greater than any other
achievement of Bangladesh.

d) No other achievement of Bangladesh is
as great as metro rail. ans. B

The synonym of *‘Franchise’ is-

a) charter b) licence

¢) privilege d) all of the above ans. C

d) mother tongue ans. A W .\ hise — CET (F F7 A FEE omg o
Lingua Franca I9 79 AYEE 9234

e JdeT UeEes EoieEE; [{rE Sfgem
(=8l | Privilege - far=rs Sfe®™@ | BT, charter
T4 FES1d 7w, F99: Licence T4 &I 18
A2 TN oHE; 45 TEE TaNiS; FEe™ |
Choose the direct speech of the sentence:
She told me to stand up.

a) She said “Do stand up™.

b) She told, “Stand up™.

¢) She said me, “Stand up .

d) She said to me, “Stand up™. ans. D
He said that he ___ the previous day.

a) has come b) came

¢) amved d) had come ans.D

Reported verb 0 Past tense @ 93T Indirect

speech @ Verb & Past perfect tense 99 TH G®
Direct speech €@ Yesterday 99091 Indirect speech
4 The previous day 96 |

IMEE TE G T @ 7 TS GO |

51. =feq, Ffw e famm=e FoR 1§ STorsT a1feq,

TfEw ¢ e TWET 6 ¢ I8 o9 | “Mewe

TTH 20 999 I o e ey
a) 3o ¥=9 b) 3¢ 952
c) 9o 959 d) o¢ 929 ans. D

Solution: RERSICERE e R e rr ol

TEF ne T s TR R =+ ¢ T
o | Fiea | 9EW < TeE o 5

=T+ C)=F + 3¢ T=......»1
HEE  F4d AN & *iawa 6 999 — oF I59

&% - 0
(-) (+)

o= = o0 959 |

52. 520 WE AW MYE AALEG. do O AL,

V¢ T, TSY WED FWH] (A0 T8 E9?
a) ¢ b) 9¢

c) ve d) a¢ ans. B




28. The phrase ‘Man of parts’ means-
a) honest b) sincere
¢) talented d) worthless ans. C
WITHILR Man of parts = talented = &4t 71f& | A
i qfws U WA Parts SR (T8 S 4
Talented.

29. Select the same meaning __ pragmatic.
a) wasteful b) productive
¢) practical d) Tussy ans. C
Pragmatic/ Practical =¥ arRgaamt; e,
amadd | Wastelul 39 S#@ | Productive &9
Bertraite; T4 1 Fussy 39 2254 |
30. Antonym of *Ally’ is-
a) rend by child
¢) congested d) enemy ans. D
IR Ally 5id pfesgn @1 fam wmam Cadores
"o 40 1 Friend 99 9% f@ | Child 99 sr&me
q[ TGS AFEES: qEd 9 afFEa | Congested
w4 wfeaam «44; fSeraw® | Enemy 99 *@F |

J1. Had I the wings of a bird! (make assertive):
a)  Iwish I had the wings of a bird
B) | had the wings ol a bird
¢) | should have the wings ol bird.
d)  May I have the wings of a bird. ans. A
Exclamatory 997 3% Had, could, were
qIA ST T CIEE AT LU0 | wish A
@92 Subject (% Verb 9% *4 919+ aTd ¢ Note
of exclumatory TRTI 0 Assertive A4 134
A0S =9 |
AT W S A A TG S 9 |

32. He got ___ his illness in two weeks-
a) on b) by
¢) with d) over

O Giet over 9 SIS #1S % |

ans. D

AT W (31 OF @Y TS HE AQmE Wdy ¢ia |

Brafere |

J3. My uncle arrived while I (cook) the dinner.
a) would cook b) had cook
¢) cook d) was cooking ans. D
While 554 of@a @RITS 495 23 |
B2 While | was cooking Z0ITE |
araTa W WA 516 TAAE (MrefeE e Wiy
ATST AT AT |
34. He advised me (give) smoking.
a) giving up b) to give up
c) In giving up d) from giving upans. B

Recent Publicaton

Advised somebody to do something %05
Appropriale  99EI[M 1 ST Smoking UEain
e Il oY A0S T (give up). HoTR
A9z ¢ e o (ars s Tea oa werm
i) 99 To give up.
aFE W fofs smmws e oeem Teras
ftaerem |

35. There is tea in the cup.
a) very little b) any
¢) very d) many ans. A
E‘rmnmhlc noun 9% ALY A W4 Few 998 &
& @98 9 Uncountable noun &7 FTY Linle &9
Very little.
Acara w0 A 51 ST |
36. The old lady cannot help ____ a cup of tea.
i) o drink ) tuke

¢) to laking d) having ans. D

OO o camcen fag = @t ica w1 sed Can
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